
Quiz 3 Math-ua.343, Fall 2017

Section 005, M. Bilu Name / NetID:

Question 1.(4 points.) Give the definition of a cycle.

Question 2.(6 points.) Let σ1, σ2 and σ3 be the following permutations.

σ1 =

(
1 2 3 4 5 6 7 8
3 5 4 8 7 6 2 1

)
, σ2 =

(
1 2 3 4 5 6 7 8
1 3 2 7 4 8 5 6

)
, σ3 = (1 5 7)(3 4 2 6).

Compute σ1 ◦ σ2.

Decompose σ2 as a product of disjoint cycles.

Decompose σ3 as a product of transpositions.

Problem 1.(6 points.) Complete the Cayley table of (S3, ◦).

◦ 1 (123) (132) (12) (23) (13)

1
(123)
(132)
(12)
(23)
(13)



Problem 2.(4 points.) What is the order of (1 5 7)(3 4 2 6) in S7?

What is the order of (1 5 7 9)(3 4 2 6 8 10) in S10?


